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3 (Sem-2/CBCS) BOT HG/RC
2025

BOTANY
(Honours Generic/ Regular)
Paper : BOT-HG-2016/ BOT-RC-2016
(Plant Ecology and Taxonomy )
| Full Marks : 60
Time : Three hours

The figures in the margin indicate
full marks for the questions.

1. Answer the following/Choose the correct

answer : 1x7=7
Teq forl/Ale Teq Ay Bfenst
(a) Shelford’s law of tolerance in named
after
CHETRE] ZTIETOR 00! TN AiT® Al (T ?
(i) James Shelford
(&g (TG
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(ii) Jacob Shelford
(& TS

(iii) Ernest Shelford
HEE CieTes

(iv) None of the above

BT Al W=
(b) Who proposed the term ‘ecosystem’?
“iRiYfoen *ms It e FRRE?
(¢) What is food web?

g Gl F2

(d) What is ecotone ?

59 2

(e) Verticillaster inflorescence is found in
the family
- (P! (ot SIBHTeTSIF IR0 Colidl T e
(i) Lamiaceae

iR

— i
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(i) Euphorbiaceae

FWERRER
(iii) Asteraceae

GRER

(iv) Orchidaceae
SRR
() Write the full form of ICN.

ICN-] 3= ==t ferall |

(g9 What is the smallest unit of
classification ?

IR FHOT ! 2

Answer the following :

woig T Tey fordt :

2x4=8

(@) Distinguish between grazing and
detritus food chain.

(GIRR) BIRe AMHRAT T (OILDIs A RIS
el feran
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() Define soil profile.

o3 A=A o & quie

(c) Name two important botanical gardens

of India.

e 74 elfe S Tpiea e el

(d) Write the differences of holotype and

neotype.

RITGE oie feBizsa ey ol

3. Answer any three of the following :

5x3=15

were TR AT fofapte Ted forl

(a) Describe the adaptation among

(b)

xerophytic plants.

e S SfSreEPR I 11 |

Define endemism. Describe the theories
of endemism.

e eelfs M 2 T ogmg 3@ 41
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() How do pollen characters help in
Taxonomy ?

FoIEeT PRER I [ 7=l FE?

(d) Write the principles of priority and its
limitations.

e IeeRvre SeiffeRa 9@ Wi 339
Aol e Jzaie o

(e} Who proposed the binomial system of

nomenclature ? Discuss the rules of this
system.

B-om s A& @iE avk sRE: @
A={oq PR s 5t |

What is ecological succession. Describe
various types of succession in a plant
community. Briefly write the process of

ecological succession in an aquatic

ecosystem. 1+5+4=10

ARMo @ it 52 few remis [iow s
SR R 3 91 | 9t oo SRt ege @[l
e REe o forl|
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What do you mean by Herbarium ? Describe
" the functions of Herbarium. Name the
world’s largest Herbarium. 1+8+1=10

QARAT M et 2 2T G I 1 1 ARA
HBIRSLT T QFRRANBIT A it | |

Draw and describe different types of
cological pyramids.

RSy e e PrRifes R Ba Az
I 3= |

S. What is an ecosystem ? Describe the key
Components of ecosystem. 2+8=10

IRty R e SRty 571 o CAMPRRS Raw
IREE o

Or

Describe either ‘carbon’ or ‘phosphorus’ cycle
on earth with schematic diagram.

IR iR v’ il B Ba e ol
Kall

6. What is natural system of plant |
Classification ? Write briefly Benthum and |
Hooker system of classification. Also write

the merits and demerits of this system.
1+5+4=10

AP 3 maet 1w Roe @ oife <IN I
RS S Bl | i w1oiTs R i feT @9 =iF (AE-
TR fEvar |
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